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Set #6 — Angnlar Momentum

1. The 100-g pin B slides along the slot in the rotating arm
OC and along the slot DE which is cut in a fixed horizontal
plate. Neglecting friction and knowing that rod OC rotates at

the constant rate &,=12 rad/s, determine for any given value
of

a) the radial and transverse components of the
resultant force F exerted on pin B,

b} the forces P and (Q exerted on pin B by rod OC
and the wall of slot DC, respectively.
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Set #6 — Angular Momentum

2. A particle of mass m is projected from point A with an initial
velocity v, perpendicular to the line OA and moves under a central
force F along a semicircular path of diameter OA. Observin 2g that
r = 1, cos 6, show that the speed of the particle is v = v,/cos™8
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Set #6 — Angular Momentum

3. A particle of mass m is projected from point A with an initial
velocity ¥, perpendicular to line OA and moves under a central
force F directed away from the center of force O. Knowing that the
particle follows a path defined by the equationr =r, /J/cos26 ,

express the radial and transverse components of the velocity v of the
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particle as functions of 0. ]
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